A L B =
Z N H# 4 E(R2{E XA 125550 2 N € #B 2,803,500
(FRiAH)
Af = B ERE 26 £ 2 A 20 A F OE M O 2,176,650
BT EARR (#ARE) ERk26E2H208H ~ FR265E3A31H AFLE L8 4% (100/105) 2,073,000
% L ox F ESFUEEKRA S 3 EE X mE —
LE 84 (100.7105) —
T £ 5 — % fL 2= 128.80%
A*#L&%5(100/105)
x E 4 B OE
%=1 %2[q %30 £4[0 5[0
1 |E5F U HEERARHT 1| 2,670,000 %L FEAAL
2 |BERE#EE)YIIIL 2| 2460,000 FEAAL
3| KERESEH)RASH 3| 2,341,000 FEAAL
4 [ BRRXEHEESEE 4| 2,126,000 FEAAL
5 [kRXEHTL Y 5| 1,873,880 FEAAL
6 [ERXEHER)IEE 6 | 1,703,060 FEAAL
7 (X EHELEE 7| 1,584,754 FEAAL
8

ARLET £ #Hix




